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Matching

The a bunch macthed for the blowout regime must satisfy

σx =

√
2γc

ωp
σx ′ , (1)

=

(
2c2ε∗x

2

γω2
p

)1/4

, (2)

and

β =
σx
σx ′

=

√
2γc

ωp
=

1

kβ
. (3)

where ε∗ = γσxσx ′ is the normalised emittance.
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Veronica - 20 µm
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Veronica - 20 µm, 1 nC (witness only)
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Beamloading
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Beamloading
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Conclusions

Beamloading involves the driver and witness wakes “cancelling
out” to make a flat accelerating field

The scaled witness (keeping on-axis density the same) would have
a charge of 1 nC

The decelerating field due to the witness is larger than the
accelerating field from the driver! Not even possible to accelerate
the whole witness
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